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Using the NEO keyboard layout several math symbols can be inserted directly like∫ or ∩.

But
∫

by \int and ∫ by UTF-8 character look differently. As Mojca pointed out

\intop is also not type set correctly: ∫ . This suggests that it is a problem with

the Latin Modern font. \intop was added in ConTEXt version 4/10/2008.

• Using UTF-8 character:

∫ Rdx = ∞

• Using UTF-8 character with \nolimits:∫
R

dx = ∞

• Using \intop:

∫ Rdx = ∞

• Using \intop\nolimits does not work.∫
R

dx = ∞

• Using \int: ∫
R

dx = ∞

• Using \int_\limits_a: ∫
a

dx = ∞
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